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http://130.149.60.45l~farbmetrik/LE56/LE56L0Nl.TXTV/.PS; start outpu?

N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D), page 1/1
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TUB-test chart LES56; Colorimetric systems

1 -:|00Iours for output linearization: 3 colou®+0, G-L, B-V
Y [e]

input:rgb setrgbcolor
output: no change
T

Nigh 190 =>T10b%kain Mgy [L* C'ap hap, @% b*lmae [L* C*ap .+ hap, @% b*rae NFae Chae UFae Orae Fae  OV'3mae,it OlViEqe it J
% 107410 0.0 0.0 30. 2.7 813 255 734 350 52.7 813 255 734 350 00 1.0 b99r m8lo 10 0.0 0.189 10 0.0 %}lg
(o] Nigb 190 =>0V3eain  Nrgp  [L* Cap, hap, @ b*lmag [L*, C*ap + hap, @ D*]Fag Mrad CFad UFad Orad dFad  9D%Mad,it 9b%3Ead it TS ®
Q 107410 0.0 00 300 556 86.2 382 67.7 533 55.6 86.2 38.2 67.7 533 00 1.0 rl9 m1000 10 019 00 1.0 0.9 Q;{)a
X 2a
Sz
o2
3 Colours no. 3 Colours no. - =0
j=1074 output of the elementary coloue j=1074 output of the device coloud: 33
rgb input (in): linear interpolation (it): 3D interpolation (3D): rgb input (in): linear interpolation (it): 3D interpolation (3D): DN
rgbt, 10 00 10 0 00 0191 o, 10 00 10 10 0149 0078 29
T9b%, gbit 255 0 0 255 0 48 255 0 49 OV, ghit 255 0 0 255 49 0 255 38 20 = 5
L%, Chyp hoy 525 908 381 527 813 255 543 880 286 L%, Gy gy 525 908 381 556 862 382 574 893 40.2 on
AEY, BET, it-in: 212 212 3D-it 83 83 AEY, BE, it-in: 56 56 3D-in: 6.1 6.1 (.gno
sE
Nigh 190 —>19b%6a 10 Rrgy  [L* C'ap. Map @% b*lmae [L*, C*ap , hab, 8% b*]Fae Meae CFae UFae Orae TFae  OVSMaejit OlVi3eae it om
1078 0.0 1.0 0.0 150.0 857 63.5 162.2 -60.4 19.4 85.7 635 1622 -60.4 19.4 0.0 1.0 j99g I77¢c 00 10 077400 10 _%7%
Nrgh 190 =>0N5eqin Mgy [L* Ctap, Map, @% b*lmag [L*, C*ap + han, 8% b*]gad MWead CFad UFad Grad @Fad  190%Mad,it 19b%3Fad,it 22
1078 0.0 1.0 0.0 150.0 86.0 110.8 1325 -74.7 81.7 86.0 110.8 132.5 -74.7 81.7 00 1.0 j57g y100l 0.425 1.0 0.0 042510 H,(#;
jogéy]
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3 Colours no. 3 Colours no. - st
j=1078 output of the elementary colour: j=1078 output of the device coloud: =d
rgb input (in): linear interpolation (it): 3D interpolation (3D): rgb input (in): linear interpolation (it): 3D interpolation (3D): gx
rgbt, 00 10 0.0 0 10 0775  olvg, 00 10 0.4 0.0 0206 10 0125 @ :‘
19b%, g 0 255 0 0 255 197 0 255 198 OV gt 0 255 0 108 255 0O 53 255 32 S
L%, Gl My 844 1180 1326 857 635 1622 858 635 1509 L% Ch, hy 844 1180 1326 860 1108 1325 869 1094 1314 T
AE%, AF, it-in: 702 457  3D-it 26 55 AEYy, A, it-in: 7.4 65 3D-in: 93 7.7 é
Nigb 190 =>19b%Fain  Nrgp  [L* Cap. Nap, @ D*Imae [L*, Cap + hap, @ b*]Fae Mrae CFae UFae OFae OFae  OV3mae,it OlV3Eae it
1077 0.0 0. 1.0 270.0 60.5 57.3 271.7 1.7 -57.2 60.5 57.3 271.7 1.7 -57.2 0.0 1. b0Or c39v 00 0613 1.0 0.0 0613 1.0H
Nigh 190 =>0WV3eain  hrgp [L* Chap, hap, @ b*]vad [L* C*ap + hapy @% b*Fag NEag CFad UFad Orad QFad  '9D%Mad,i 19b%Fad it c
107700 0.0 1.0 270.0 442 1133 304.1 635 -93.8 442 1133 304.1 635 -93.8 0.0 1.0 b28r vOOm 0568 0.0 1.0 0.568 0.0| 1.Gm
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3 Colours no. 3 Colours no. =
j=1077 output of the elementary coloue: j=1077 output of the device coloud: o
rgb input (in): linear interpolation (it): 3D interpolation (3D): rgbinput (in): linear interpolation (it): 3D interpolation (3D): ]
rgbt, 00 00 00 O 10 olv, 00 00 5 025 0125 10 =%
19b%, gt 0 0 255 0 156 255 0 156 255 OV gt 0 0 255 145 0 255 64 32 255 e
L%, Gy My 347 1214 3042 605 573 2717 610 563 2729 L Ciy hy 347 1214 3042 442 1133 3041 486 1116 3047
\ DE%, BE, it-in: 833 583 3D-it: 16 4.2 DE*,, AEY, it-in: 125 85 3D-in: 17.1 108 |
E556-7X, Test chart v 3 o7 Fage T i
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